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0,60 [o] 45 5 - 30 - | 4,03 ° 75° 19 | 47 4.0 0,100-0,160 |
0,70 (5] 45 5 - 3.0 - 4,47 o BE 23 50 6,0 0,100-0,160
0,80 (o] 45 6 - 30 - 4,93 (0] BE 23 50 6,0 0,100-0,160
0,80 6] 45 6 - 3.0 - 4,99 o] 86 23 50 6,0 0,100-0,160
0,98 ] 49.5 6 215 4,0 0,100-0,160 5,00 [ ] 86 23 50 6,0 0,100-0,200
0,99 o 495 6 215 40 0,100-0,160 5,01 [ 86 23 50 6.0 0,100-0,200
1,00 (o] 495 6 215 40 0,100-0,160 | 5,02 ] 86 23 50 60 0,100-0,200 |
1,01 O 49,5 6 215 4,0 0,100-0,160 5,03 L] a6 23 50 6,0 0,100-0,200
1,02 o] 49,5 6 215 4.0 0,100-0,160 597 (o] 93 26 57 6,0 0,100-0,200
1,03 o 495 9 215 40 0,100-0,160 5,98 (=} 93 26 57 6,0 0,100-0,200
1,48 0 49 a2 21 4,0 0,100-0,160 589 (o] 93 26 57 6.0 0,100-0,200
1,49 o 49 g 21 4,0 0,100-0,160 6,00 . 93 26 57 8,0 0,100-0,200
1,50 (o] 49 g 21 4,0 0,100-0,160 6,01 L] 932 26 57 6,0 0,100-0,200
1,51 o 49 a a1 4,0 0,100-0,160 6,02 ® 93 26 57 6.0 0,100-0,200
1,52 o] 49 2 2 4,0 0,100-0,160 6,02 . g3 26 57 8,0 0,100-0,200
1,53 Q 49 a 21 4,0 0,100-0,160 7.97 (o} 117 33 81 8,0 0,100-0,200
1,98 o 49 a2 21 4,0 0,100-0,160 7,98 o 117. 33  B1 8.0 0,100-0,200
1,99 o A9 Baol By 4,0 0,100-0,160 7,99 o} 117 33 81 8,0 0,100-0,200
2,00 ° A0 520 4,0 0,100-0,160 8,00 ® 117 33 81 8,0 0,100-0,300
2,01 o A0 Do e 4,0 0,100-0,160 8,01 * 117 33 81 8,0 0,100-0,300
2,02 o) 49 12 21 4.0 0,100-0,160 | 8,02 e 117 33 81 8.0 0,100-0,300
2,03 o 49 12 21 4,0 0,100-0,160 8,03 ) 117 23 a1 8.0 0,100-0,300
2,48 =] 9 16 31 4,0 0,100-0,160 8,04 (o] 7 23 B 8,0 0,100-0,300
2,49 o 59 16 n 4.0 0,100-0,160 9,87 o] 133 38 93 10,0 0,100-0,300
2,50 (e 59 16 31 4.0 0,100-0,160 | 9,98 o} 133 38 93 100 0,100-0,300 |
2,51 (o 59 16 31 4,0 0,100-0,160 9,09 o 133 a8 93 100 0,100-0,300
252 O 59 16 A 4.0 0,100-0,160 10,00 ] 133 a8 93 10,0 0,100-0,300
253 (] 59 16 3 4,0 0,100-0,160 10,01 [ 133 28 93 10,0 0,100-0,300
2,97 (o} 625 17 35 4.0 0,100-0,160 10,02 L] 133 38 93 10,0 0,100-0,300 |
2,88 (s 625 17 35 4.0 0,100-0,160 10,03 L] 133 28 93 10,0 0,100-0,300 I
2,99 ® 625 17 35 4,0 0,100-0,160 10,04 (o} 133 38 93 100 0,100-0,300
3,00 L] 625 17 as 4.0 0,100-0,160 10,05 . 133 238 a3 10,0 0,100-0,300
3.0 L] 625 17 a5 4,0 0,100-0,160 11,97 (o] 151 44 106 12,0 0,100-0,300
3,02 '] 625 17 35 4,0 0,100-0,160 11,98 O 151 44 1068 120 0,100-0,300
3,03 o 625 17 35 4,0 0,100-0,160 11,99 o] 151 44 106 12,0 0,100-0,300
397 fe 75 19 47 4,0 0,100-0,160 12,00 ® 151 44 106 12,0 0,200-0,350
3,88 o 75 18 47 4,0 0,100-0,160 12,0 ® 151 44 106 120 0,200-0,350
3,99 o 75 19 47 4,0 0,100-0,160 12,02 ® 151 44 1068 120 0,200-0,350
4,00 ] [ | R 4,0 0,100-0,160 12,03 O 151 44 106 12,0 0,200-0,350
4,01 ® 75 19 47 4,0 0,100-0,160 12,04 (o} 151 44 106 120 0,200-0,350
4,02 L 75 19 47 4,0 0,100-0,160 12,05 L ] 151 44 106 12,0 0,200-0,350 |
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